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Fe | B R | amaxs| wens FREST) s | mamr | sams
1 e 8 2 4 14 0 100. 00
2 L 31 2 3 36 0 100. 00
3 X 21 11 1 33 0 100. 00
4 A X 9 9 1 19 0 100. 00
5 Ak X 3 2 1 6 0 100. 00
6 B X 7 1 1 9 0 100. 00
7 £F 8 27 2 4 33 5 99, 85
8 4% 4 7 18 2 3 23 10 99, 57
9 THER 7 7 1 15 5 99. 67
10 n EL 17 2 2 21 10 99,52
11 2 13 4 2 19 10 99. 47
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e FEBT | BEAKE | FRmE ‘“%i Bl oaw | tanER | Bems
1 R A 1 1 0 100. 00
3 |
2 Fﬁlﬂ’;]““’ g1t 1 1 0 100. 00
3 K F| 1 1 2 0 100. 00
—
4 —rﬁﬁﬁ§/\$% 1 ! 0 100. 00
o |k SEX AL
5 T R 1 1 0 100. 00
i
6 W ETIRIER 1 1 0 100. 00
7 I G R 1 1 0 100. 00
g AR E 7 ! ! ) 0 100. 00
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9 5 4 MR L E 1 | ) 0 100. 00
10 by P RS ! 1 ) 0 100. 00
G
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1 AR fr AR ) { 3 0 100. 00
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16 ﬁi;c‘%;%;z%“ﬁﬁ 100. 00
17 B AR 100. 00
8 ﬁ%ﬁéﬁﬁﬁ 100. 00
19 R R 100. 00
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20 ﬂﬁﬁjﬁiikgéﬁnﬁ% 100. 00
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23 Y ) ) 0 100. 00
24 R 2 2 0 100. 00
25 LR RaN = 1 1 0 100. 00
26 iR 1 1 0 100. 00
27 WAz 1 A 1 1 0 100. 00
28 R Ak T ) 2 0 100. 00
‘ ==
g9 | TEREMREESR ) ) 0 100. 00
=
30 AR 10 23 10 99. 57
31 W & 3 4 5 98. 75
32 R MR 4 4 5 98. 75
33 R KR 4 10 98. 00
34 AR 1 10 90. 00




